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* Whey to Go

* Questions 1 through 11 are based on
the following passage.
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« Question 1. —\

* Given these solutions as well as the
many health benefits of the food, the
advantages of Greek yogurt [Q1] outdo
the potential drawbacks of its
production.

« A. outdo

» B. defeat

» C. outperform
« D. outweigh
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- outdo \

« to do more or be better than someone else:
« He always tries to outdo his teammates.

 defeat
* to win against someone in a fight, war, or competition:
« They defeated the Italian team and reached the final.

« outperform

 to do well in a particular job or activity compared to others of a
similar type:

« The company has consistently outperformed its rivals this season.

« outweigh
* to be greater or more important than something else:
« The benefits of this treatment far outweigh any risks.
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* https://www.oxfordlearnersdictionaries.com/
* https://dictionary.cambridge.org/
* https://www.merriam-webster.com/

dll
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« Question 2. \

« To address the problem of disposal, farmers have found a
number of uses for acid whey. They can add it to livestock
feed as a protein [Q2] supplement, and people can make
their own Greek-style yogurt at home by straining regular

yoqgurt.

Which choice provides the most relevant detail?
A. NO CHANGE

B. supplement and convert it into gas to use as fuel in
electricity production.

C. supplement, while sweet whey is more desirable as a food
additive for humans.

D. supplement, which provides an important element of
their diet.
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 a number of T

 the number of
* supplement
e desirable

e desirous
e desire
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« Question 3. —l

« If it is improperly introduced into the
environment, acid-whey runoff [Q3] can
pollute waterways, depleting the oxygen
content of streams and rivers as it
decomposes.

« A. NO CHANGE

» B. can pollute waterway's,

» C. could have polluted waterways,
* D. has polluted waterway's,
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« Question 4. —\

 Yogurt manufacturers, food [Q4] scientists;
and government officials are also
working together to develop additional
solutions for reusing whey.

« A. NO CHANGE
 B. scientists: and

« C. scientists, anc

 D. scientists, and,
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* Question 5. \

 [1] The main environmental problem caused by the production of
Greek yogurt is the creation of acid whey as a by-product.

* [2] Because it requires up to four times more milk to make than
conventional yogurt does, Greek yogurtfproduces larger amounts of
acid whey, which is difficult to dispose of.

* [3] To address the problem of disposal, farmers have found a number of
uses for acid whey.

 [4] They can add it to livestock feed as a protein [Q2] supplement, and
people can make their own Greek-style yogurt at home by straining
regular yogurt.

« [5]If it is improperly introduced into the environment, acid-whey runoff
[Q3] can pollute waterways, depleting the oxygen content of streams
and rivers as it decomposes.

« [6] Yogurt manufacturers, food [Q4] scientists; and government officials
are also working together to develop additional solutions for reusing

whey. [Q5]
« To make this paragraph most logical, sentence 5 should be placed.
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« [1] The main environmental problem caused by the production of Greek yogurt is
the creation of acid whey as a by-product.

 [2] Because it requires up to four times more milk to make than conventional
yo?urt does, Greek yogurt produces larger amounts of acid whey, which is
difficult to dispose of.

« [3] To address the problem of disposal, farmers have found a number of uses for
acid whey.

« [4] TheK can add it to livestock feed as a protein [Q2] supplement, and people can
make their own Greek-style yogurt at home by straining regular yogurt.

« [5]If it is improperly introduced into the environment, acid-whey runoff [Q3] can
pollute waterways, depleting the oxygen content of streams and rivers as it
decomposes.

« [6] Yogurt manufacturers, food [Q4] scientists; and government officials are also
working together to develop additional solutions for reusing whey. [Q5]

« To make this paragraph most logical, sentence 5 should be placed
« A. where it is now.

 B. after sentence 1.

« C. after sentence 2.

 D. after sentence 3.
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* Question 6.

» [Q6] Though these conservation methods can be costly and
time-consuming, they are well worth the effort. Nutritionists
consider Greek yogurt to be a healthy food: ...

« The writer is considering deleting the underlined sentence.
Should the writer do this?

» A. Yes, because it does not provide a transition from the
previous paragraph.

« B. Yes, because it fails to support the main argument of the
passage as introduced in the first paragraph.

« C. No, because it continues the explanation of how acid whey
can be disposed of safely.

« D. No, because it sets up the argument in the paragraph for the
benefits of Greek yogurt.




» SRR « www.koolearn.com

« Question 7. T

 Nutritionists consider Greek yogurt to be a
healthy food: it is an excellent source of
calcium and protein, serves [Q7] to be a
digestive aid, and it contains few calories in
its unsweetened low- and non-fat forms.

« A. NO CHANGE
* B. as

 C. like

 D. for
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« Question 8. —\

 Nutritionists consider Greek yogurt to be a
healthy food: it is an excellent source of
calcium and protein, serves to be a digestive
aid, and [Q8] it contains few calories in its
unsweetened low- and non-fat forms.

« A. NO CHANGE
« B. containing

« C. contains
 D. will contain
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« Question 9. —l

 Greek yogurt is slightly lower in sugar and
carbohydrates than conventional yogurt is.
[Q9] Also, because it is more concentrated,
Greek yoc yogurt contains slightly more protein
per serving, thereby helping people
stay satiated for longer periods of time.

* A. NO CHANGE

* B. In other words,
 C. Therefore,

 D. For instance,
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« Question 10. —\

» Also, because it iIs more concentrated,

Greek yogurt contains slightly more
orotein per serving, thereby helping
neople stay [Q10] satiated for longer
neriods of time.

« A. NO CHANGE
- B. fulfilled

« C. complacent
* D. sufficient
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- satiate \

« to completely satisfy yourself or a need, especially with food or
pleasure, so that you could not have any more:

« He drank greedily until his thirst was satiated.
« fulfill

« to do something as promised or intended, or to satisfy your hopes
or expectations:

« At the age of 45, she finally fulfilled her ambition to run a
marathon.

« complacent

- feeling so satisfied with your own abilities or situation that you
feel you do not need to try any harder:

« a complacent smile/attitude

« sufficient

« enough for a particular purpose:

« This recipe should be sufficient for five people.
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* Question 11. \

« Because consumers reap the nutritional benefits of Greek
yogurt and support those who make and sell [Q11] it,
therefore farmers and businesses should continue
finding safe and effective methods of producing the food.

A. NO CHANGE

B. it, farmers

C. it, so farmers

D. it; farmers
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 Dark Snow

* Questions 12 through 22 are based on
the following passage and
supplementary material.




» SRR « www.koolearn.com

* Question 12. |

 The size of the ice sheet fluctuates seasonally: in summer,
average daily high temperatures in Greenland can rise to
slightly above 50 degrees Fahrenheit, partially melting
the icé; in the winter, the sheet thickens as aci/dltlonal

snow faIIs and average daily low temperatures can drop
[Q12] to as low as 20 degrees.

« Which choice most accurately and effectively represents
the information in the graph?

A. NO CHANGE

B. to 12 degrees Fahrenheit.

C. to their lowest point on December 13.

D. to 10 degrees Fahrenheit and stay there for months.
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Average Daily High and Low Temperatures Recorded
at Nuuk Weather Station, Greenland (1961—1990)
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« Question 13. —|

« Typically, the ice sheet begins to show evidence
of thawing in late [Q13] summer. This follows
several weeks of higher temperatures.

« Which choice most effectively combines the
two sentences at the underlined portion?

« A. summer, following

 B. summer, and this thawing follows
 C. summer, and such thawing follows
« D. summer and this evidence follows
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« Question 14. \

« Typically, the ice sheet begins to show evidence of
thawing in late summer. This follows several weeks
of higher temperatures. [Q14] For example, in the
summer of 2012, virtually the entire Greenland
Ice Sheet underwent thawing at or near its surface
by mid-July, the earliest date on record.

« A. NO CHANGE
- B. However,
 C. As such,

« D. Moreover,
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« Question 15. —l

 But Jason [Q15] Box, an associate professor of
geology at Ohio State believes that another
factor added to the early thaw; the “dark snow”
problem.

« A. NO CHANGE

 B. Box an associate professor of geology at
Ohio State,

« C. Box, an associate professor of geology at
Ohio State,

 D. Box, an associate professor of geology, at
Ohio State
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« Question 16. T

« But Jason Box, an associate professor of
geology at Ohio State believes that another
factor added to the early [Q16] thaw; the

"dark snow” problem.

« A. NO CHANGE

 B. thaw; and it was

e C. thaw:

« D. thaw: being
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« Question 17. —l

« According to Box, a leading Greenland expert,
tundra fires in 2012 from as far away as
North America produced great amounts of soot,
some [Q17] of it drifted over Greenland in giant
plumes of smoke and then fell as particles
onto the ice sheet.

« A. NO CHANGE

e B. soot

« C. of which

« D. DELETE the underlined portion.
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« Question 18. —\

« According to Box, a leading Greenland expert,
tundra fires in 2012 from as far away as
North America produced great amounts of soot,
some of it drifted over Greenland in giant
plumes of smoke and then [Q18] fell as
particles onto the ice sheet.

« A. NO CHANGE
- B. falls

« C. will fall
- D. had fallen
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« Question 19. —\

» Scientists have long known that soot
particles facilitate melting by darkening
snow and ice, limiting [Q19] it's ability to
reflect the Sun’ s rays.

« A. NO CHANGE
* B. its

« C. there

* D. their
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* Question 20. \

 As the ice melts, the land and water under the ice
become exposed, and since land and water are darker
than snow, the surface absorbs even more heat, which
[Q20] is related to the rising temperatures.

« Which choice best completes the description of a self-
reinforcing cycle?

A. NO CHANGE

B. raises the surface temperature.

C. begins to cool at a certain point.

D. leads to additional melting.
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« Question 21. —\

» The pattern Box observed in 2012 may
repeat [Q21] itself again, with harmful
effects on the Arctic ecosystem.

« A. NO CHANGE
- B. itself,
« C. itself, with damage and
* D. itself possibly,
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- [1] Box's research is important because the fires of 2012 may not |
be a one-time phenomenon. [2] According to scientists, rising
Arctic temperatures are making northern latitudes greener and
thus more fire prone. [3] The pattern Box observed in 2012 may
repeat [Q21] itself again, with harmful effects on the Arctic
ecosystem. [4] Box is currently organizing an expedition to
gather this crucial information. [5] The next step for Box and his
team is to travel to Greenland to perform direct sampling of the
ice in order to determine just how much the soot is contributing
to the melting of the ice sheet. [6] Members of the public will be
able to track his team's progress—and even help fund the
expedition—through a website Box has created. [Q22]

« To make this paragraph most logical, sentence 4 should be
placed

« A. where it is now.

« B. after sentence 1.
« C. after sentence 2.
« D. after sentence 5.
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« Coworking: A Creative Solution

* Questions 23 through 33 are based on
the following passage and
supplementary material.
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« Question 23. —\

 The novelty of this comfortable work-from-
home life, however, [Q23] soon got worn
off quickly.

« A. NO CHANGE
* B. was promptly worn

« C. promptly wore
* D. wore
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« Question 24. —\

« Having become frustrated trying to solve
difficult problems, [Q24] no colleagues were
nearby to share ideas.

« A. NO CHANGE

« B. colleagues were important for sharing ideas.

« C. ideas couldn't be shared with colleagues.

 D. I missed having colleagues nearby to consult.
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« Question 25. —l

« [t was during this time that I read an article
[Q25] into coworking spaces.

« A. NO CHANGE
- B. about

« C. upon

« D. for
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« Question 26. —\

» The spaces are usually stocked with
standard office [Q26] equipment, such as
photocopiers, printers, and fax machines.

« A. NO CHANGE

* B. equipment, such as:

» C. equipment such as:

* D. equipment, such as,
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« Question 27. —l

« The spaces are usually stocked with standard
office equipment, such as photocopiers,
printers, and fax machines. [Q27] In these
locations, however, the spaces often include
small meeting areas and larger rooms for
hosting presentations.

« A. NO CHANGE
« B. In addition to equipment,

» C. For these reasons,
« D. Likewise,
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* Question 28. \

« [Q28] The cost of launching a new coworking business in the
United States is estimated to be approximately $58,000.

« The writer is considering deleting the underlined sentence.
Should the sentence be kept or deleted?

« A. Kept, because it provides a detail that supports the main
topic of the paragraph.

 B. Kept, because it sets up the main topic of the paragraph that
follows.

« C. Deleted, because it blurs the paragraph's main focus with a
loosely related detail.

« D. Deleted, because it repeats information that has been
provided in an earlier paragraph.
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* Question 29.

« What most caught my interest, though, was a quotation from
someone who described coworking spaces as “melting pots of
creativity.” The article refers to a 2012 survey in which

[Q29] 64 percent of respondents noted that coworklnq spaces
prevented them from completing tasks in a given time.

« Which choice most effectively completes the sentence with

relevant and accurate information based on the preceding
graph?

- A. NO CHANGE

« B. 71 percent of respondents indicated that using a coworking
space increased their creativity.

 C. respondents credited coworking spaces with giving them 74
percent of their ideas relating to business.

 D. respondents revealed that their ability to focus on their work
improved by 12 percent in a coworking space.
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Perceived Effect of Coworking on Business Skills

B positive impact  [] negative impact

ideas relating
to business

creativity

ability to focus

completing tasks
in a given time

standard of work
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« Question 30. —\

» The article goes on to suggest that the
most valuable resources provided by
coworking spaces are actually the people
[Q30] whom use them.

« A. NO CHANGE

« B. whom uses

e C. who uses

« D. who use
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Question 31. \
 [1] Thus, even though I already had all the equipment I needed in my
home office, I decided to try using a coworking space in my city. [2]
Because I was specifically interested in coworking ‘s reported benefits
related to creativity, I chose a facility that offered a bright, open work
area where I wouldn’ t be isolated. [3] Throughout the morning, more
people appeared. [4] Periods of quiet, during which everyone worked
Independently, were broken up occasionally with lively conversation.

« The writer wants to add the following sentence to the paragraph.

- After filling out a simple registration form and taking a quick tour of
the facility, I took a seat at a table and got right to work on my laptop.

« The best placement for the sentence is immediately

« A. before sentence 1.
- B. after sentence 1.
 C. after sentence 2.
 D. after sentence 3.
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« Question 32. T

 Over time, I've gotten to know several of my
coworking [Q32] colleagues: another website
developer, a graphic designer, a freelance
writer, and several mobile app coders.

« A. NO CHANGE

- B. colleagues;

- C. colleagues,

* D. colleagues
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« Question 33. —\

 Even those of us who work in disparate
fields are able to [Q33] share advice and
help each other brainstorm.

« A. NO CHANGE
* B. give some wisdom

» C. proclaim our opinions
* D. opine
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e proclaim —l

 formalto announce something publicly or
officially, especially something positive:

» All the countries have proclaimed their
loyalty to the alliance.

e Opine
* to express an opinion:
[ + speech]

» [ + that ] Ernest Rutherford opined that his
work on radioactive substances would be
of little or no practical use




» SRR o .koolearn.com
R Zerrreee e

- The Consolations of Philosophy

* Questions 34 through 44 are based on
the following passage.
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« Question 34. \

« Long viewed by many as the stereotypical useless
major, philosophy is now being seen by many
students and prospective employers as in fact a
very useful and practical major, offering students a
host of transferable skills [Q34] In broad terms,
philosophy is the study of meaning and the values
underlying thought and behavior.

« A. NO CHANGE
 B. For example,

e C.In contrast,
* D. Nevertheless,
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« Question 35. —l

 But [Q35] more pragmatically, the
discipline encourages students to analyze
complex material, question conventional
beliefs, and express thoughts in a concise
manner.

« A. NO CHANGE

» B. speaking in a more pragmatic way,

» C. speaking in a way more pragmatically,
 D. In @ more pragmatic-speaking way,
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« Question 36. —\

 Because philosophy [Q36] teaching
students not what to think but how to
think, the age-old discipline offers

consistently useful tools for academic and
professional achievement.

« A. NO CHANGE
* B. teaches
 C. to teach
* D. and teaching
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« Question 37.

- ...the age-old discipline offers consistently useful tools for
academic and professional achievement. YQ37] A 1994
survey concluded that only 18 percent of American colleges
required at least one philosophy course.

« Which choice most effectively sets up the information that
follows?

- A. Consequently, philosophy students have been receiving
an increasing number of job offers.

« B. Therefore, because of the evidence, colleges increased
their offerings in philosophy.

« C. Notwithstanding the attractiveness of this course of study,
students have resisted majoring in philosophy.

« D. However, despite its many utilitarian benefits, colleges
have not always supported the study of philosophy.
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« Question 38. —\

« A 1994 survey concluded that only 18 percent
of American colleges required at least one
philosophy course. [Q38] Therefore, between
1992 and 1996, more than 400 independent
philosophy departments were eliminated from
Institutions.

« A. NO CHANGE
e B. Thus,

« C. Moreover,

 D. However,
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« Question 39. —l

« Also, studies have found that those students who
major in philosophy often do better than
students from other majors in both verbal
reasoning and analytical [Q39] writing. These
results can be measured by standardized test
scores.

« Which choice most effectively combines the
sentences at the underlined portion?

« A. writing as

« B. writing, and these results can be
« C. writing, which can also be

 D. writing when the results are
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« Question 40. —\

* On the Graduate Record Examination
(G R E), for example, students intending to
study philosophy in graduate school
[Q40] has scored higher than students in
all but four other majors.

« A. NO CHANGE
 B. have scored
» C. scores

* D. scoring
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« Question 41. T

« These days, many [Q41] student's majoring in
philosophy have no intention of becoming
philosophers; instead they plan to apply
those skills to other disciplines.

« A. NO CHANGE

« B. students majoring

« C. students major

« D. student's majors
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I\ Ftrr et

« Question 42.

« Law and business specifically benefit from the complicated theoretical \
issues raised in the study of philosophy, but philosophy can be just as
useful in engineering or any field requiring complex analytic skills. [Q42]
That these skills are transferable across professions which makes them
especially beneficial to twenty-first-century students.

« At this point, the writer is considering adding the following sentence.

« The ancient Greek philosopher Plato, for example, wrote many of his
works in the form of dialogues.

« Should the writer make this addition here?

« A. Yes, because it reinforces the passage's main point about the
employability of philosophy majors.

« B. Yes, because it acknowledges a common counterargument to the
passage's central claim.

« C. No, because it blurs the paragraph's focus by introducing a new idea
that goes unexplained.

« D. No, because it undermines the passage's claim about the employability
of philosophy majors.
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« Question 43. —\

» That these skills are transferable across
professions [Q43] which makes them
especially beneficial to twenty-first-century
students.

« A. NO CHANGE

* B. that

 C. and

* D. DELETE the underlined portion.
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« Question 44. —\

« Because today's students can expect to
hold multiple jobs—some of which may
not even exist yet—during [Q44] our
lifetime, studying philosophy allows them
to be flexible and adaptable.

« A. NO CHANGE
* B. one’s

* C. his or her
 D. their







